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SUMMARY
The problem of designing a costume fabric was solved in this work. In the warp and weft 

of the fabric a two-component yarn, containing 50 % cotton and 50 % cotton-flax, obtained 
at the �-?�? "Orshansky flax factory " was used. The new kind of interweaving was 
developed, the pattern motive for interweaving is a line that does not lose its relevance. In 
the developed fabric the quality and art-coloristic design was improved, which allowed to 
expand the assortment of costume fabrics. 
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SUMMARY
The properties of materials and parts for the bottom of shoes from thermoplastic 

elastomers are considered in this article. The authors present a description of existing 
methodologies for assessing the physical and mechanical characteristics of the TIC soles. 
The research  the operational properties of the soles for special and work shoes produced 
by LLC "Plastan" is done. The analysis of experiment  results is fulfilled.
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